EARAROBREBRT —5 XN—ZXBISH—F

2021E108178H (B) 13EHEE?2H

m]Z’EZ'%EU B Y>%R3®mL BRI
[AXE%) 1%&:700,000 9 ~ 23%&:210,000H  3%:112,000H  43#&:5,000H  53&:42,000 4
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
N REZ : -8-6- - DB (1£8)
1 4| HAEYINRS— i o4 R 1.(2_3).4 8-8-6-3 | 38.0 6 :1_5;1) E;% =}
RiVEIWDF— B:ZY/TALL AU
Sy S5 5 | WOB 1:23.6 6-7-8-8 |38.2| — 1 484 | NBEK (£R)
2055 | T ILEZO 56.0 (1 1/8) o |FrE
RiNZ—k1—2 H:hOEALTIST— ASARIY b
= W 43 | REE 1:23.8 3-2-2-2 | 39.7] - 2 522 | FURE (£)
3|81 T ILYYRA— 5.0 1 1) C | rEER
RIFATILARTH— B:FAILIURII FA TLMS
N R HhEA . —4-3-, = BAGREE (EH)
47| 9| R/FTEF—ILR R i | TP R A
RIN=YTSA B:L—VS5A RIVR J—HUTr—I
—= BEE—p : -5-5- - oh)l|EE (£8)
5170 | w7519+ Ho4 B 1'(26'1 5-5-5-6 | 39.2 5 :1+521) ﬁIE; =
R:FAIXIv— B:BryO0—X NT EAE
sy ~,= 3 | RBEC 1:24.2 10-10-9-9 | 38.1| -— 3 483 | JIIEBZF (£8)
6 7 Ja1—VTIb—LA E 54.0 (172) (5 |BNA
RFAIATp— BFIZISRTST— Elte
= p ) 43 L 1:24.4 1-1-1-1 | 40.4| — 4 | 469 |WHEE (KB
7l8l10/ 75—V —Ya 5.0 ) ) |BEEE
R:¥YUSTviRk B:F—IRILA WA e
~ t% 6 | WTER 1:24.7 7-6-7-7 |39.3| — 7 | 438 |KBEAE (EB)
EH 2| B13AF VY 5.0 11/ i) | B T PN
RIVIRAI—ZZRY— B:F39I4707 el e
= 5 | BEsEth 1:24.7  [1-11-11-11] 38.0 | — 9 | 451 |EEM (£
9111 |N7219754V— " 5.0 @p) ) | R H. T a—tL—v3y
R:o07% B:YaAFTIS5Ah FUTY Mg
< <, Hohid : -9-10~ - BEH—X (£8)
N : P2 4 5 = 1.(225).1 9-9-10-10 | 39.0 10 (5_039) i
RIZZRF VAN BYTFSAXTH—R AH F
~, )03 t 7 | BWEH 1:25.7 2-3-4-5 | 41.3| - 8 186 | BARKE (£8)
N . B ) & e | (@) ) PN
RiAAYIVR—5— B:AX/SvF— NIFHIT7—L
@ 1—F—&RIEL
13—7+— 10,6,11,9,8,5,2,4,3,7,1
20—F— 10,11,6,9,8,2,5,4,3,7,1
30—— 10,11,9,6,8,4,2,5,7,3,1
43—F— 10,11,4,9,6,8,2,5,7,3,1
o ILRE
BB 4 3,800 | [ 94 K 4-5 660/ e B 4-5 2,610M 3EE 4-5-11 2,140
B B 4 280M 4-11 780M 5 E 4-5 2,620 3EH 4-5-11 35,0804
5 1109 5-11 210 Ba 4-5 9,460
1 140M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




